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= What does the thumb indicated in Fleming's right hand rule ?

2

5 e B A fafay < el ) e F e i aw w0 A 6 e
Name the phytohormone that helps plants to detect stimulus of Light.

e Ao A S i E O Ul o U Saretol Sifer |

Give one example each for renewable and non - renewable source of energy.

@) = afufEn s e S )
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{a) Define a redox reaction.

b When ma um is burnt in air it combines with oxygen to form
gnesi XY8
magnesium oxide. Write chemical equation for the reaction and
identify the substance oxidised.

Frefertian SfeRFaIs & STYR W @, ate Ay 5F =) afulrandien & 9ed 9
# srafted e | 39 T & F S

Fegs) + CuSOuyag — Fe SOuag + Cuyy

Zrys) » Fe SOsaq) — ZnSO04(aq) + Feyp)

Arrange Iron., Copper and Zinc in increasing order of reactivity on the basis of
the following reactions. Give reasons for your choice.

Feg) + CuSOsjagy— Fe SOuuq + Cuypy

Zny;) - Fe SO4ag — ZnS0guq + Fey

wAE T T FaE 25 VAN 50 mA 1 o Wi F1 uiEer Fitd |
A torch bulb is rated 2.5 V and 750 m A. Calculate its power.

St yETE Wi & Wi 3 39 =6 SR Seed 89 Yend T g
il |

Draw a diagram to show magnetic field lines through and around a solenoid
carTying current.

frofafen TuEEE SR % Sgfed TUEHS T e

() EEEEF+ T TR ST

(b) T+ T FEE ~4IE 0ss + SN

{c} i RS + FET — 5% + TE AeNEs

3 balanced chemical equations for the following chemical reactions
(3}  Hyds + Chlorine — Hydrogen Chloride

ead + Chloride — Lead Chloride + Copper

(©) mmw — Zinc + Carbon Monoxide

1 %
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9.  FErEl TEEhE wHE | W Aty €7 7 T A S § 7 m%éqﬁ g
YRR F I & IR § TS St J9EtE 9eie u o Sgid
TR gofEe § e St

What is meant by a skeletal chemical equation? What does it represent? Using
the equation for electrolytic decomposition of water differentiate between a
skeletal chemical equation and a balanced chemical equation.

10.  uF e P aid % TiHel I FHio] St 81 98 Y7 %1 Henad o g1 gg e A 3
FTE[EEIE & o pH 5.5 @ 1 @7 w wenfi 2 €
(@) @i P TEi )
(b) ez aw fiuemdl @ W 98 $@ afora @ s &7 <6 & 83w I
% o =i == =0 =nen ?

Compound P forms the enamel of teeth. It is the hardest substance of the body.

It doesn’t dissolve in water but gets corroded when the pH is lowered below

3.5

(a) Identify the compound F

(b) How does it undergo damage due to eating chocolate and sweets ?
What should we do to prevent tooth decay ?

1. ofEd qgr fififa A & T arofeg Fifee 5= =i #5959y, 99 F =69 3
o1 EiE &) W 9 d ge @ o £

Tabulate the change in colour and name of the compound formed when silver
articles, copper utensils and iron materials are exposed to air.

12, 3w % Frw fofed ) fedl 3o § 08 v aipwgs i ﬂzaaas’ﬁaﬂwm 3
Tt ¥ = o iy ofttae wifed

State Ohm's law. Calculate the resistance of a conductor if the current flowing
through it is 0.2 A when the applied potential difference is 0.5 V.

13,  HeY =9 FE R = Ry+Ry+Rs, 79 @17 WY Ry, R, 791 R, et formg vty & 3
' #uiisen | Haiem e T §)
Derive the relation B = Ri+BE-+R3 when three resistors By, By and R are
connected in series in an electric circuit.

14, §aE 23 3 viemw afd ) Pedl e gaw & Fee o9 R o Regew 2 3
fasif 2 SR %1 S 7 S O T & A 0 e Sl

Define magnetic field. A compass needle get deflected when brought near a
bar magnet. Why ? List three properties of magnetic field lines.

15.  vamd ¥ S, TRl o Tesiees & s SR & B A S g 61 e 3
weE HeAl 3§ T faue § v g oifen I e
()  dr= e B TRk F)
(by el & afiadiem = =i
()  TEErEi-ga § e St Suiid 5|
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17.

15.

During respiration, pyruvic acid is produced as end product of glycolysis.
State the end products formed from it on further breakdown in each of the
following cases :-
a) . yeastin absence of oxygen.
lack of oxygen in muscles
(<) Presence of oxygen in mitochondria

ﬁﬁﬁﬁﬂfﬁﬁﬁﬁﬁﬂﬂ?ﬁﬁ%ﬁﬁﬁﬁ@ 3
HE

= i | e |
FERESS, WEA 791 76 9T F aa
AT Ffa %
IR T 560 3 &R I 900 S0

Identify the gland and hormone performing the following functions and
cotnplete the table,

i Funchon Gland Hormone

Regulate carbohydrate,
protein and fat metabolism
Cause dwarfism

Regulate sugar level in
blood

(@) < AR wifrel % g e ) e e £2 3

(b) ¥ T F R UGN H A o R B 22 e |
(c) ﬁﬁmﬂﬁﬁwﬁﬁﬂﬁﬁaaﬁmaﬁzﬁrw*wﬁﬂmﬁu
(@)  What is the gap between two neurons called ?

(b)  How does information travel across the gap ? Explain.

{c) Name the part of neuron system which connects central nervous
Systems (CNS})to body parts,

mﬁﬁwm@a%mwmmmmﬁﬁﬁﬂﬁﬁﬁa 3
it fafad | _

List four characteristics of a good source of energy and two disadvantages of

burning fossil fuels.

T Sl 6 e 1 e A Wi S = w9 a3 e < 3
T TF I @R T ¥

Draw a schematic djaéramnfabiegm plant. Name two elements in the slhurry
Ieﬂbetﬁndwhihnuhasingmdmnum
a‘maﬁmtmm-miﬁﬁﬁmm 5
¥ Frfia #3351 a5 957 3§ s = U TR fo¥ % 9eRd 3

ST T o Wb 1o a1 forggn srquesft afcesoo o sy 27

With the help of chemical equations for the reactions describe in brief the
method of obtaining copper from its sulphide ore. Draw a labelled diagram to
show how copper thus obtained is refined electrolytically.

ST 2 OR
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21.

22,

(a)
(b)

(b)
()

(b}

(@)

(b)

(€)

(@)

(b)
(©)

(@)
(b)

()

et 3 o S |

w40 § A2 o we aEsll (S8 Hg 99 Cu) 1 5% SE0Ee a9
wewrEe Al ¥ Teedn =1 fafy fafed uﬁiﬁwaﬂmﬁiﬁmﬁ%
et TaEtE gHEw AR |

. Define metallurgy.

Give the method of extraction of metals (eg Hg and Cu) present low in
the activity series from their oxide and sulphide ores. Write the
balanced chemical equation for the reactions involved in each step.

SE 9 weEtE 9 W ¥ I 4 UE d SWE S 99 3= Rl 5
HaY: i a9 e faeem € Tt 9F T Foa A foend TR E A
ST Tiw T T O ugEE Y Sl ?

TR O ¥ STHR T U S0 U O AR Y 9 o ga e it |

You have been provided with three test tubes. One of them contains
distilled water and the other two contains an acidic solution and a base
solution respectively. If you have only red litmus paper how will you
identify the contents of each test tube ?

List two differences between an acid and a base on the basis of their
chemical properties.

reEt / OR
s faers ®i pH 7 (W) &) =ave sited 7 a9 6 99
(i)  =u% pH Y Fla w4
(i) =HF pH B =E|
ﬁﬁﬁﬁﬁﬁmwwmﬂ%ﬁwnﬁﬂﬁhm%ﬁmmpﬂﬁa
At = e ?
1T U faer ¥ pH % aR § 1 FE W Hiieww HEie d 00, St
FA & AR % Hafea TemtE e et | -

A solution has a pH of 7 (seven). Explain how you would

(i) increase its pH

(if) decreases its pH

If a solution changes the colour of the litmus from red to blue, what can
you say about its pH?

What can you say about the pH of a solution that liberate CO; from
sodium carbonate? Write the balanced chemical equation for the
reaction.

w T wig FNE?

@R FT wEm w1 uiEer Hied faas gfa ST var 4 ue e T
et T 2t &1 U 30 1 SEW € 16X 1079 C

3 % e = AeEs S & o o faem 9oy sAE) qﬁqﬂﬁfﬁﬂ?
W T Tavaiet & 99 = Egd il S |

What is an electric circuit ?

Calculate the number. of electron that flow per second to constifute 2

current of one ampere. Charge on an electrons s 1.6 X 1075C

Draw an electric circuit for studying Ohmy's law. Label the crcuit

component used to measure electric current and potential difference.
agan £ OR
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(a) Tl == o < fod & =iw favaia aftfie =5

() Tl ofig § fvais % 9rm & o v sue & Am fafed ) =8 5
WAl fpm s £ 2 . ' |

(©) 24 % fagg uw T uitey § 1 e oF yerfea = ot &1 afs oftey
& Tl & &9 A 3 v & @ et F wmam § feen s fe
R ?

(a) Define potential difference between two points in a conductor

(b) Name the instrument used to measure the potential differenceina
circuit . How is it connected ?

(c) A current of 2A passes through a circuit for 1 minute. If potential
difference between the terminals of the circuit is 3 V, what is the work
done in transferring the charges ?

() et commm S 9§ T o uREE = gR SE R sE W 5
1 W B, AR I T Y
(iy  HHE 8T S TEET H |
(i) HAHE &F R TE @A

(b) WA = aresa Fraw s S e wEm fetafen g2 § dewm

ZER R Enke e ARk iEeT!
EG

=
{a) What happens to the force experienced by a current carrying conductor
laced in a uniform magnetic field, when placed
(i)  parallel to magnetic field?
iiy  perpendicular to magnetic field ?
State Flemings left hand rule. Use it to find the direction of magnetic
field in the following case.

force

(b) -

219er / OR
ot e fowe oioe =1 B9 oF, 59 OF 79 Y9eE OF oo 50 0%
EE] NG Wiad | AEET WS § A3 9Rad $ 9K Gene ou ques
ot

Draw a schematic diagram of a common domestic circuit showing live wire,
neutral wire and the earth wire.
List four characteristic features of circuits used in residential buildings.
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{c) = @ T ufa s o 96 | S W ¥ $R 6 S
FaE?

Draw a cross sectional view of human heart and label aurtﬁ and left

Specify which side of the heart will contain deoxygenated blood and
hich side will have oxygenated blood. '
(c Which chambers are ‘receiving chambers’ and which chambers send
blood from the heart ? '
agat / OR

o SeEe a7 F A o S e SR aan A @ e S |

]

()  gFB U

by T

(©) et

(d)y TARE

Draw a diagram of human exc system and label renal artery and urethra.
State the functions of

{a) renal artery

(b} kidney

()  ureter
(d)  urinary bladder.

wr-a / SECTION - B

ﬂﬁwmwmmﬁmﬁm#mw%fw&w 1
a1 v % =R i faer S R E W T SRl :

[ e : Jeo]

@) |3 soTee au ifean qee | A & 3 e 8 Tl e
=1 Ui e T

(b) | A aRRe adl Siead aehe E v Ee T
faeraat =i fasmn T .

(© |af@m sonme faeed siedd Trergm uen & T
gehe 9o 7 2Em

) [Aen senRe =1 9% Sifea | FN g 6 g
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Students were asked to study the reaction between barium chloride and
sodium sulphate. Four different reports of the experiment are given below,
Choose the correct one.
Procedure Observation
(a)  Mixed powder of The colour of the mixture
| »barium chloride and | changes to yellow A
sodium sulphate
(b)  Mixed solution of thick white precipitate is
- barium chleride to formed.
the solution sodium
sulphate
(c) . Added solution of Solution become turbid
barium chloride to
sodium sulphate
' powder.
(d)  Added powder of No change observed.
*  barium chloride to
sodium sulphate TL
solution |

uﬁa@?ﬁ%aﬁaﬂamﬁmﬁﬁaﬁmﬁﬁlﬁmmﬁvﬁaﬁﬂm 1
EPIWH:

(@) e ) ==

(€ EETED (d e

A big iron nail is kept in CuSO; solution for two hours, the colour of the
solution will change to

(a)  Pink (®  Red

(<) Pale green (d)  Yellow

S B pH I B 3w & A S R w A A el S 2w £ A e
(a) e A Fen (b) o A E

(¢}  zaFw e (d) R A= R

When we observe pH chart, the two colours seen at its extreme ends are :-

(a) red and blue (b) red and green

(c) green and blue (d)  orange and green.

Wwimmﬁﬁwﬁsmﬂawﬁ@ﬁmmﬁﬂmﬁmﬁmm 1
ST ERgiE W F 39 92 w6 § 3| pH AR %1 418 S !
(a) T ® T|@FImw

(c) e e (d) 9% 32 G

A student observed that the colour of PH paper changed to green when she

dipped it in distilled water. She added a few drops of concentrated
hydrochloric acid to water. The colour of the PH paper would tum to

{a)  lightred (b)  apple green

(c) dark blue (d)  lemon yellow
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29. uF it A A eRGRIE:  # o ot g 1 $@ weE vwE 9% v 1
T T
(a) & =1 waw wws )
(b) o= %1 Ta St oo B E g
(c) = F o=f 3o F aga v
(d)  affsmar = Tgor &0 8w

A zinc plate was dipped in a beaker containing dilute hydrochloric acid. After
some time it was found that the :

{a) surface of zinc becomes brighter

(b} surface of zinc becomes black and dull.»*

(c) zine plate turns into powder.

(d) reaction mixture turns green.

30. =R waHed d ¥ wew F 10 Al a9 e wethe fawae o e d@e, 1
g, 5% aon Sgfafrm gell =1 el fim segatedl © off 781 A S d
T T AR T 7| A s aven ugsl mogm
(a)  dfer aur o (b)  Ugfafrm ay dla
(¢) it wa Uegfafran (dy T v dgfufam
10 mL of freshly prepared iron sulphate was taken in each of four test tubes.
| Strips of copper, iron, zinc and aluminium were introduced, each metal in a

different test tube. A black residue was obtained in two of them. The right pair .
. of metal forming the precipitate is :

(a) copper and zinc (b) aluminium and copper
(c) iron and aluminium “(d)  zinc and aluminium _
31.  Trefafes Al & gwil # 9, i it faess o9 ae 9 %1 99 S0 1
(@) Al (SOq)s, FeSOs (b)  FeSO4 CuSO;4
{c) ZnS0;, Fe SOy fd} ZnS0y, CuS0y

Out of the following pairs of compounds, identify the one where both the
compounds form coloured aqueous solution :-

(a) Al (SO4)s, Fe S0y (b) Fe50),, CuSOy
(c) ZnS0y, Fe SOy (d)  Zn50y, CuSOy

32. 9= ofiny fage v =1 favain % wry afieds 5 oreae =t wEifies sgasn s 1
2.

F
W i Fafm g o s g S tu g s v g, ww d
(a) WY E % 3R IR % FvEir
(b) W = Wl
(c) Wit % wanfea fow@ gm
(d) o FEEE = SR 9 s
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The following circuit shows the experimental arrangement for studying the
variation of current with potential difference :

2|'1
A

@

F

In this arrangement F is a device used to measures the magnitude of :
(a) potential difference across the resistor E

(b)  resistance of the resistor

{c) current flowing through the resistor

(d)  potential difference across the rheostat D

33. uitmy ® g fre=s v Fam e e 1
(a)  um % uftme § 3l & oy
(b)  um % afem § w5 F fag
() =W % ufmm F gig @ =4 % fom
(d) Wiy H uw uiEde & forg, fadi & 4 faveim & Rads fee fom

The rheostat is used in the circuit to :

(a)  increase the magnitude of current

(b) decrease the magnitude of current

{c) . increase or decrease the magnitude of current

(d)  change the current in the resistor without changing the potential

difference across its two ends

34, U e qu Seede w g # fam saen s A svdm # w6 E e (A) 7 1
uiie T ¥1 W U B T ST S WM # ¥, 0 gY W e W
e fort (B) s ¢ &1 e v e e Y HE AGE ;

f o
3
.‘lld q
\t
\\
(Fig. A) (Fig. B)

(a) L2mATWM32V (b) 42mATA4V
() 3MmATH3I2ZV (d) MmATIMLV
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35.

The rest positions of the needles ina milliammeter and voltmeter not in use are
shown in Fig (A). when a student uses these in his expériment, the readings of
the needle are in the position shown in Fig B, the corrected values of current
and voltage in the experiment are -

ﬂr}‘q ;4'.--
ot 2 ’
Lo _
B ~ A e
5\ =
> : .
(Fig. A) (Fig. B) :
(a) 42ZmAand32V () 42mAand4V e
() 34mAand32V (d) 34mAand4V A
ofizem # Heiifem < wRRws R, 791 R, %1 qo9 wiwin 5@ &@ % fag & 2o 3 1

FesreR 9 TRuy ¥2 o fEan wam 9, gy § et gf & wro s e
el 781 A A § gun 8 we € e |

L} T

K

() At ¥, 791 3R P uE Q F IR UK g A

(b) TR E, TS KT F we e A __
(c) IRHRF MW PO FIATEPF IR WSS
() TR, a9 S8 Pud Q & W 9w Wi 91

A student sets up her circuit, for finding the equivalent resistance of a series
combination of two given resistors R; and F; in the manmer as shown in figure.
She did not obtain the correct result in her experiment because of a mistake in
her circuit. The mistake can be corrected by shifting the :

()  voltmeter and connecting it across P and Q

(b)  ammeter and connecting it between K ant-F”

{c) voltineter and connecting it across T and P with correct polarity
(d) ammeter and connecting it access(j‘.:ﬁnd Q.
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36. ﬁﬂﬁaﬁﬁqqﬁqﬁﬁ,ﬁuﬁxﬁ*ﬁmammumﬁﬁqﬁﬁmﬁmﬁm 1
fu o € ﬁfﬂﬁﬁﬁﬂawﬁaﬁqﬁmmﬂﬁmﬁfﬂmﬁ i
Ri = R 7l il siteesiiex 7 Ueftex % et # weiy € -

@  Vi=Va=V@IL=L=1]
(b) VizVazVi@h=L=IL
{©) Vi=Va=V®§¥L=L+1
(d) VigVezr Vel bal;

For three circuitg shown in the figure the same two resistors Ry and R» have
been connected ip parallel in all the circuits but the voltmeter and ammeter
have been connmted in three different positions. If Ry # R; the relation between
the three voltmeter and ammeter readings would be :-

=l
+®- +®- -
=Vy Ry
J.a.m._ .,‘_i.,fv'-
—~@-—1w\.3w—_ B @:
*il; . Ra :h"
=Vz
—ib——— L=

(a) Vi=Va=ViAndL=L=I
Eb} Vi #Vz#Va And L= L=1]
(€) Vi=Ve=ViAndL=L=z=I
(d) VizVezViAndL=L+1
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39,

TR YR S e e s €, R w0 & e o s S
I S TR Wi e w4 w5 § uw e v 5 2 w0
1 H g TN Wi EiHfadE w wd

(@)  WeY FifERET ¥ T e

(b) WY HYERT & = e

(c) ey SR § w2 #1 E: gvery

(d) e g % v § v

A teacher was explaining the procedure to the students for proving light is
essential for photosynthesis. One of the step was stated to be destarching the
plant. The word destarching means :-

(a)  Removing chlorophyll from the plants cells.

(b) Removing starch from the plant cells.

{c} Re-synthesizing starch in plant cells.

(d)  Allowing plant to stay in sunlight

VT HYAT Wi H yer sevad € wEe o, wlwa § e A 9 o smes v
el o T # 1 39 veefh

() RS (b) iR

(© =N e (d) = FHE

In the experiment to prove light is essential for photosynthesis, one of the item
is not used in the procedure. Identify it.

(a) Alcohol (b} Black paper
(c) Starch solution {d}  Water bath

o1 U FeEEel | Wil o i e 1 e aert s daw e @ 4
T = H 19 & =98 SR F R Bt % fad a5 e w96 R
et & g =

(a) ¥ H Faw 991 953 © 3@ waF

(b)  UF Fmw aUl UF EHd a9F

(€  FBFEF 79 T 2 woh

(d) UF F=w 09 959 § o waw

Students were observing the temporary mount of a stained epidermal peel
under a microscope. They were later asked to draw the guard cells
surrounding stoma. The correct diagram must illustrate guard cells having :

(a) many nuclei and many chloroplast.

(b)  one nucleus and one chloroplast.

(c) tew nuclei and one chloroplast.

(d)  onenucleus and many chloroplast.
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40.  feu g foa o 29id o 9w A 70 B e € 1
(b)  BR =ifvEm 1 W fag
() =T == e a9 g FifE
(d) B IR qu A = i
The parts shown as A and B in the given diagram respectively are
A
i
&M
(@)  epidermal cell and stomatal pore
(b) guard cell and stomatal pore
(c} epidermal cell guard cell
(d)  guard cell and epidermal cell.
41. o e S oy A R v €1 S o % ey v R # 1

RuDDer (ork- -

(a) w%ﬁqxoﬂﬁmaﬁﬁm%r

(by ™ HEew ufmar § 9 R co, Sty g &
(c) <iFha =il = v F fa 0, % Savasa gl g1
(d) =T H sigfa 9 g0 CO, I Bt ¥

An experimental set up has been shown below. The purpose of the set up is to
show that,

Rubbes Enrb.—ﬁ '
| IS

Za\

'KOH solution is essential for :esptrahon

Q05 released during photosynthesis by plants.
germinaBing seeds need O for respiration.

CO;is produeced by germinating seeds during respiration.
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T WS S ST FEET T R S w3 1 10991 I SR S i S w
T T T B8R

T ——batanan) }iJ gt

(a)  1-3%% =i, I - Ca(OH), a9 11 - 51d

(b) 1-Fa ==, II - KOH faea= a4 1 - 5

(©)  1-9 4, 11 - KOH faass qanin - ==

(d) 1-SFHa ==, I - KOH faere aen 111 - seitg faera

An experimental set up was drawn and students were asked to label the parts
indicated as I, II & III. The correct label will be :-

/' T
i

T b
{a) I - Boiled seeds, Il - Ca(OH); and 11 - water
(b} I - Germinating seeds, Il - KOH solution and I1I - water
{c) I - Dry seeds, II - KOH sclution and ITI - water
(d) 1-Germinating seeds, Il - KOH solution and III - saline solution.

-olo-
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